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Equivalent Circuit of Wireless Power Transmission with Magnetic

Resonance Considering Electric Conductivity
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Abstract Recently, wireless power transmission using magnetic resonance is discussed actively. To maximize effi-
ciency of transmitting power, it is necessary to understand a physical mechanism. An equivalent circuit expression
is useful to realize it. In this report, an equivalent circuit of wireless power transmitting with loop coil considering
electric conductivity is constructed and examined. The parameters of an equivalent circuit is calculated from the
mechanical parameters. The result of the method of moment(MoM) and the equivalent circuit are compared. More-
over, an experiment is performed. If the electric conductivity used for the measurement is known, the analytical
result of the equivalent circuit and the measurement are almost corresponding.

Key words Wireless Power Transmissiond Proximity CoilsO Equivalent Circuitd Electric Conductivityd Calcu-

lation of Parameter
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